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,.. 4
5 '._ { * _.' ]
I [] ]
I B
u
? i, gﬁ;
L (3 (]
~15 i i% M %i ]
o 10 20 30 4 50 e

axial-sc Log,,[G]

axial-sc Log ([G]

axial-sc Log;,[G]

axial-sc Log,,[G]

axial-sc Log,([G]

m;=140. MeV (mass 2)
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m;=240. MeV (mass 5)
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m;=380. MeV (mass 11)
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m;=180. MeV (mass 3)
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axial-sc Log,,[G]
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m;=590. MeV (mass 16)
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m;=690. MeV (mass 19)
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m;=800. MeV (mass 22)
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m;=2250. MeV (mass 25)
,.. 4
r@ [ 3
[ ] [
L [ ] [ ]
2 a
-5+ [] e _
L ® []
.. ..
[ ] [ ]
., Hﬂ }BB}}HF‘E{ }+H -
-10} . *
L l. ..
ks ¢
-15r- %“ﬁ% ?M *
0 10 20 30 40 50 60
t
m;=2979. MeV (mass 28)
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m;=640. MeV (mass 17)
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m;=670. MeV (mass 18)
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m;=740. MeV (mass 21)
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m;=1600. MeV (mass 24)
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m;=2900. MeV (mass 27)
(== e
g i
[ ] [ 3]
[ ] o2 |
L [ ] [ ]
a2 [ ]
-5+ [ ] Q i
L S [ ]
(] [ )
R e = T
-
—-10 j I'. .'. _
'] ']

f " S
_15 i L L L L | L L L L | w%i L L \iw ‘iéi‘g‘ii‘}‘ L L | L L L L | L 1
0 10 20 30 40 50 60

t
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